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1 OO0oooogd

gbob0ob0obobobOobobDuobUob0 AexpUb0boboOoboooooooOO
00 z, 00000000 s, 000000 +,+*00000000000000OO00O0O0O0O
gboboodgbbuooobbobbuoobbooobbuooobbobbuoobbooob
goobobooggoobodo

1.1 BNFOOOOOOO

BNF OO (Backus-Naur form) 000 0000000000000 000O0O0OQOQOOOO
0000000000000 0ooo“:="00000000000000000O¢YY 000
ggooobod

1.1.100: 000 (D000 «)000 AexpOOOOOO'0O0ooOO
a€Aexp:=2Z|Sa)|a+ala*a

g

000000 boobobU0o0obD O0O0DDbOO0ODDbOO0 s O s@ +z20 AexpOO
0000o0oooooooooons@ +Z2xs(Z) U0boooooooooosz) g
Z*S(z)0O+000000000O(DUD0DO0OD)0D000D0D0DDODOODOOOOOOOODO
gbobooobogbbogboogbbooobboobbooobbooboobboob
gbboodboobbbuodgboobbodobboobbodoboobbooboobbod

0000000 a€ Aexp =:=Z|S(Aexp) | Aexp + Aexp | Aexp * Aexp 00000000000

1



O00000000000000000D000 (abstract syntax tree) 00000000000
00000000 (000000000000 0)0000000 (abstract syntex) 0000

O000000000000000000000000oooooOoOOOoOoooUOOO (O
0000000) 4 ¢ 00000(S@) +2) (2 000000000000000
goggobbobobbibddooodd=00000oobbbobbbodooooonon
gobbobooogbbobbboooobboooobboood =0 +0bboooobb
+x0000000000000000

S(Z) +Z % S(Z) = S(2) +(Z*8(2) # (S(2) +2) * S
Z+Z+7Z (Z +2)+2Z = Z+ (2 + 2
Z*Zx*7Z = (Z x Z) * Z e Z* (Z x 2)

goon

1.2 0OO0O0O0O0O0

OO0 BNFOOOOOOOOOOOODOODOOOOOOOOO (inductive definition) 0 0 O O
ggbooboggan

1.2100: 000000 Aexp 0000000000000 ADOOOOOOOOOOO
1. {z}C A
2. 00 acADDD {S(w)}CA

3.00 e ADDO apae AODODO {a1 + ag,01 *GQ}QA
|

gogobbobbougogobobbuooooobobobouoooobobbouooboboga
gbboobuogbbooboobbodobbbooobbooboobbooooboob
1,s(),1+1,... 000000000000 O0O0O0bOO0bOO0obOobDOobLbDOobDOoobLOobOoD
gboobuoooOBNFOOODOOOODDODOODOODOODOODO

0000000 Aexp0 0000000000000 0000O0O0O0OOO0OOOOOO?0
Aexp U0 OOOOOOOODOODODODOODOOOODODOD

goboo0 FOOO0OODOODOOD

F(S):{Z}U{S(a) |GES}U{G1 + ag,a; * CLQ|G1,CL2€S}
0000 FS) = F(F(--- (F(S))---) (F'(S) = §) 00000

Aexp = U F'(0)
i€Nat

gogbbobuoogobbbooooobbbooobboboooobobobuoooobbboo
000000 000000000O00




1.3 JU00odoooobobobooooboooog
000 (D0Uoooooo)bogooooo
neNv:=7Z|S(n)
gooooooobobbon
(P(Z) & ¥n € Nv.(P(n) = P(S(n)))) = ¥n € Nv.P(n)

0000000000000000000000000000000000000000 (induction
principle) 000000

gbogboobobboobd eOOO0OO0OO0O0DOOOOOO0DODLDOODLODOODOD
googod

1. a =120

2.a=8(ap) D0O0O0Oe U «c OOODODOODOOODOO

3.a=a; + e U000a, a0 U00000OOOOOONO

4 a=a; * e 00000, a 0 0000000OOOO

O00000000000000000 (structural induction) 0000000000000
1.3.100 [J000000000000]: Va€ Aexp.P(a) 000000

1. P(z)

2. Va € Aexp.P(a) = P(S(a))

3. Yay,as € Aexp.P(ay) & P(ay) = P(a; + as)

4. Yay,as € Aexp.P(ay) & P(ay) = P(a; * as)
gooooon 0

gogooboboboooboboboobobobobobooobooobobon
000000 sizec Aexp— Nat 0000 40000000000000 (ODOO 400
0000000000000000000000000000000000O0O0)g

size(Z) = 1

size(S(ag)) = size(ap) +1
) = size(ar) + size(az) + 1
) = size(ay) + size(az) + 1

size(a; + as

size(a; * as



1.3.20: depthe Aexp—Nat 00D O0OOO00OOOOO

depth(z) = 1
depth(S(ag)) = depth(ag) + 1
depth(a; + az) = max(depth(ay), depth(az)) + 1
depth(a; * az) = max(depth(ay), depth(az)) + 1

00000Va € Aexp.size(a) < 24 10000
Proof: 00000000000 DOODOOOODO
1. size(z) < 2%r(2) 1 0000000000000
2. size(a) <29 1 000000 size(S(a)) < 24erthE@) 1 0000

size(S(a)) = size(a) + 1
< 2depth(a) < 2depth(a)+1 -1
< 2depth(S(a)) -1

3. size(ay) < 2%Ph(a) 1 [0 size(ay) < 2%*(e2) — 1 0OD0D00ODOsize(a; + ay) <
2depther +a2) _1 0000

size(a; + ag) = size(ay) + size(ag) + 1
< 2depth(a1) — 14+ 2depth(a2) —14+1
< gmax(depth(a1),depth(az)) 4 gmax(depth(ar),depth(az)) _ |
< 2depth((z1 + az) _ 1

4. size(ay) < 2%Ph(a) 1 [0 size(ay) < 2%*(e2) — 1 0OD0D00OD0size(a; * ay) <
2derthier » a2) _ 1 00 O0O(0O)

2 Joogboogoogood

000000 ((0000D0)00000o000ooUooo0d(rule)y 00000000
00000000000 Aexp U0 O0OO0OO0ODOOOOODOOOODODO

21 00: 000000 AexpOO0OooooooooooDO

7 Aoxn (A-ZERO) a € Aexp (A-Succ)
ex D —— -oU
P S(a) € Aexp



a1 € Aexp as € Aexp

(A-Prus)
a; + ag € Aexp

a; € Aexp as € Aexp

(A-MuLr)
a1 * as € Aexp

U

gobboogbogdbuogobbugobboooboobobobooobbbooonboo
OO000000D0 A-PrusO0a; O AexpOO0O0O a0 Aexp OO0 OOOay+ay O
Aexp 00000000 DO0ODODOOODODOO Z+8(2) e AexpO0OO0DOOO A-ZERO
OO0O0A-SuccO0O0ODA-PLusO0D0000O0DOOOODOOOOOODOOOOOO
O00000D00 acAexp 0000000 « OODOD0O0OD Aexp00000DOOODO
gbooboobobbobbobooboobodo BNFOOODOODOODOODOD

2.1 OJOO0On

gogooobod

Ji J,
J

(ooo)

0000000000000 J,000@Gudgment) 000000000 DODOOOCOOOO0O
0(Oo0o000o0o0oooooooooo)booooooooog J,...,J,00 0000
0J/JO0O0O0O0O0O0O0O0O00000000000d (dervation)00000000OODODODOO
000000000 (derivation tree) 000000000000 0O0OZ + S(Z) € Aexp O

gogogdogo
A-7ZERO

A-Succ
A-PLUs

A Z € Aexp
Z € Aexp ~ZERO S(Z) € Aexp
Z + S(Z) € Aexp

0000000000 0000oooo3o
gobogooobiod ebO0bbOoooboobboobboobobboobbon
bbb bbobbbobbobobobobbobbooboooooooooooog
gogboboboooobbboooobobboooobobbooooobooo
gdddooooooobbobboobobobbbobobbobbobobbobbboouoooa
000000 (derwation system) 0000

‘00000000000000000000



_ E-7ZERO s"(Z S™(Z
71z ( ) als@D  alsm@ (BE-PLUS)
a U, n a; + ag u Sner(Z)

(E-Succ)  a; | S"(2) as || 8" (Z)

S(a) | 8(n) (E-Murr)
a; * as | S"™(Z)

U 1. 0db0boboodggd

22 QOJO00O0O0OoOooO0

gobbbudd oD 000 mOoobOoObOoooobbood n<mUOboOoOoooon
gogbobobooodn

(NAT-ZERO) n € Nv
Ze Nv (LEQ-REFL)
n<n
n € Nv
——  (Nar-Succ)
S(n) € Nv
n<m m<p
n € Nv
_ (LEQ-Succ) nsp
n < 8(n) (LEQ-TRANS)

2210000:00 8(z2) <s(s(z)) boobobobooboooboobo

3 Uoouoogon

goggobbobobobooooooooobboobbbboooooooooboboboooboo
000000 s@s(2)+s(s(2)) OO0 s(s(s(s(z)))) boooooooooooood
goboooboobobooo NvOOooboboobobuoobooo—>boooboooo
Nat—OOOOOsS@)H+s(s(z)) oo 40b00o0ooooooooboooo

gboboggbbogobbuoobobboobobooobbooobbuoobooooo
goboobboodgbbooobbuoobbooobbuooobboobbobbboob
gogboouooooon

3.100: 0000 e« 000 10000000000

ggoooooououoooooooooobbobobobbibooooooooooon
gog

ggoouoobobbobbboooooooobuoobbbobobboooooouooobo
gog

3200 [D0000000000000]: Va € Aexp,n € Nv.a |} n= P(a,n) 000
040000000



1. Ya € Aexp.P(Z,Z)

2. Va € Aexp,n € Nv.P(a,n) = P(S(a),S(n))

3. Vay,ay € Aexp,n,m € Nat.P(ag,S"(Z)) = P(a1,8™(Z)) = P(a; + as, 8" (2))

4. Yay,as € Aexp,n,m € Nat.P(ag,S"(2)) = P(a1,8"(2)) = P(a; * ay,8""™(2))
U

3.300 [D00000000000]: Va € Aexp,3n € Nv,a | n

0000000000000 0000000000000000000000d (contextual
equivalence) 0000000000000 OO0O00O0O0OOOODOOODOOODOOOOOOO
gboboogbobobogbobobobobooboboboboboobobobod
0000000000000 00000O00000000DO0000000OD0O0AO (context)
goboobbobuoogobbboooobbbuoooobobuooonoon

3400: 00 CeCtxODOODoonDoooDOonO
CeCtx:=[]|S(O)|C +ala+C|C *xalax*C
Cle]0 COO []0 «0D000000000000000000
3500: 000 a; 0 ao DOOOOODO0OOO0 aq=Za 000000000000

a; 2 ay < (VC € Ctx,n € Nv.C[a1] | n < Clay] | n)

4 0O000O0O0O

4.1 O0O0OOOoogg

00 (reduction) 0000000000000 000O0O0O0O0OO0OOO0OOOOOOO
gogoobbobobbbbodoooooobobobbboooooouobboboobobbooaa
ggbbbuoooobbbuoooobobbuooobobobooooboobooo

e JOUUOOO0ODLDLDDLOOUOOOLDDLDLDLDOUOLOOOODLOLDDLDOULOOOLDDLDODOO
gogobbbbogooobbobbooooooboboobobobbboooooon
gogbobobooodgn

e OUOUOODLDOOUOOODLDDLDOOULOUODLDLDbDULOOODLDDLDOUOOOODLDDOO

Udb 0 100000 e UD000O0O000 a —a 0000



R-PrusL
(R-PLUSZERO) ap + ag — aj + ay ( )
ag + Z — ay
w o Slae) st az) i (R-PLusR)
(R-PrusSucc) ay + ag — a; + d
—— (R-MULTZERO)
ag * Z— 12 /
S (R-MurrL)
a; * S(as) — a; * ay + a1 ap * ay — aj * ap
(R-MuLrSucc)
a—d az — aj
(R-Succ) (R-MuLTR)
S(a) — S(a") a; * ag — aj; * al

020000 (1)

411 00: 00 — OO0 2000000000000D0 —0 —OUOOOQOGQOGQG
—~ U0 —0>0ogugooong

—*gggobobogdoboboooubbbdtdtl«~0ooboooooobooaon
gogboobbbooogbbboooobbboooobn

4120000 D000O0obOOo0oOooon

(8(8(2)) + Z) * S(Z+S(Z)) — S(8(Z)) * S(Z+3(Z))

S(8(Z)) * 8(Z+3(Z2)) — S(8(Z)) * S(8(Z+2))

(8(8(Z)) + Z) * S(Z+8(2)) — (S(S(Z)) + Z) * S(S(Z+Z))

(8(8(2)) + Z) * S(Z+S(Z)) — (S(8(2)) + Z) * (Z+S(Z)) + S(Z+S(2))

00000000000000000000000000(000 e+ 20 ap* Slay) O
0000000000)0000 (redez) 0000
000000000000000000000000000000000000000
0oo

41300 [0D0000000000000]: Yai,a, € Aexp.a; —> ag = Play, a) 00
0000000000000

1. Va € Aexp.P(ag + Z,ap)
2. Yay, a9 € Aexp.P(a; + S(ay),S(a; + ay))

3. Ya € Aexp.P(ay * Z,Z)



4. Yay,as € Aexp.P(a; * S(ag),a; * ay + ay)
5. Va,d' € Aexp.P(a,d’) = P(S(a),S(d"))

6. Vay,a},as € Aexp.P(ay,a)) = P(a; + ag,a] + as)
7. Yay,ay,ay € Aexp.P(ay,ay) = P(ay + as,a; + ab)

8. Yay,dl,as € Aexp.P(ay,a)) = P(a; * ag,a} * as)

1)
)
1)
2)

9. Vay,as,a, € Aexp.P(as,ay) = P(a; * as,a; * aj)

4.2 0OJOO0O0OO0OOO

gboboogbbuooobboobbooobbuooobboobboobobbood
gobood

421 00: a€ Aexp 00 ~-3d € Aexp.a — ¢ 0000000 (normal form) 0000
gooo

4.2.2 00 [D0O0O0OOO, termination of evaluation]: 000000 ¢« D000a —*
o 000000 JOD0OD0000

Proof: « — - —d — - 00000000000000000Ow(a) € Aexp — Nat
ggbobooogobooon

1. w(z) =1

2. w(S(a) = w(a) + 1

3. wlar + az) = w(ar) + 2w(az)
4 wlar * as) = 3- wiar) - wlas)

O00000Va,d € Aexp.a — ¢ = w(a) >w(d) 000000 Va € Aexp.w(a) > 00
000ad— - —d —--0000000000w() > >w(d)>--- 00000
goooooooobobbn OJ

ggodoobobobobbbobbbobbobbbbbobbdddddouooUuUuuuo
O00000000000000 (confluence) 0000

4.2.3 00 [00O0O, confluence|: Vay,as,az.a; —* ag & a; —* a3 = Jag.as —* a4 &

as —" ay.



Proof: (OO) O

gboboobbooobuooobboooboboobboobbooobbuooobboon
gogno

4.2.4 0 : Yay,as,as.ay < ay =— Jaz.a; —* a3 & as —™* as.
) s W3 3 3 3

gobbbuoodgobbboooooobooooboboboooobbbuoooonoon

4.2.50 [JO00O00O0O, uniqueness of normal forms]: « —* ¢ 00 ¢ —*a”" OO
d, o 00000000¢ =a"0000

goboogobobuoboboodboobobooobbuooobboobbuooobboon
gboboodgbbuoobobooobbuoobbobbooobbuoobbooobboob
g

5 OUOOO0odbodon
0o0oDooooooooo
5.1 O 0: Yay,as.ay < ay < a = asl]

gboboggbboobooboobbooobbodbbidl «0bugobboobboaon
ggodoouoouogoouooobbobbbbbbbibodoobobbbbbooooooo
oo

gogbbbuoooobbbooaob

5.2 00: Ya € Aexp,n € Nv.a |l n < a —"n.

Proof: O000O0O0ODOen 000000000 ODOODOODODOOOOODOO 0J

6 00000Oeager/lazy 000

6.1 OUOODOOOO

000 (00)00000000O0O0O00000O0000D0OODO00DOooOOOoOoOoooO
oboboooboooboobooooboooobobbooooboboboobooobooobo
goboobooooooboooobooobooobooboboobooboooobooobooboooboo
000000 (reduction strategy) 0 0000000

6.1.1 00: FeAexp—~Aexp 0000 — 000000000 OO0 a € dom(F)
0000 a— F(e) 00000000000(feA—BOOOO dom(f) 0 fO0DO0O
AO0DOO0)

10



D000000000000000000000000000000000000000
0a +a000 a,0 00000 (00)000000000000000000000
0D00000000000000000000000000000000000000000
(00000000000 00000000000000000000000000000
0oooo)

0000000000000000000000000000000000000000
0D000000000000000000000000(S(2) +8(2) *z0000000
S(z) + 8(z) 00DD0O0OO0OD (DO0O0O0OO0O0D0O0000000)00000 zOOOOO
0000000 eager D0lazy 0000000

0000000000000000000000000000 (—.0 —,)00000
000000000000000000000

6.1.200: 00 — 0 —, 00000003004 00000000000

gbobooobbooobobooobbugobbobbuooobbuooboobooobboo
goboobooboobooboooooobUbEs-PLROOOOOOODOODO n, 00000
O0oo0O0o0o0o(ses(..(z...)»))00000000000000

6.1.3 O:
(8(S(Z)) + Z) * S(Z+S(Z)) —.S(S(Z)) * S(Z+S(2))
O0o0oooon

(8(S(Z)) + Z) * S(Z+S(Z)) —. (S(8(Z)) + Z) x S(S(Z+Z))

(S(S(2)) + Z) * S(Z+S(2)) — (S(S(Z)) + Z) * (2+48(2)) + S(Z+S(2))
goooooon

— gobobuoggbobobuogooboboogoobobobooobobobuodlb —e 0o
goooon

6.1.4 00 [eager 00000000 DOOOOOO]: Yay,ay € Aexp.a; —. ac—>P(ay, as)
gdooooooooooooo

1. Vn € Nv.P(ng + Z,ng)
2. Vni,ny € Nv.P(n; + S(ng),S(ny + ny))
3. Vn € Nv.P(ng * Z,Z)

4. Vni,ne € Nv.P(ny * S(ng),ny * ng + ny)

11



CL1 96 Cll

RE-PLL
(RE-PLZ) ap + az —.ay + a ( )
ng + Z —¢ g
(RE—PLSC) Ay —¢ a’2
ny + S(ng) — . S(ny + ny) / (RE-PLR)
ny + ay ——e N1 t+ ay
(RE-MUZ)
ng * Z —, 2
I (RE-MuL)
-MU
n *S(?’Lg) —e N1 * N + N aq *a2—>€a’l * Qo
(RE-MuSc)
a —.d Ay — al
(RE-Succ) (RE-MUR)
S(a) — S(a") Ny ok Gy ——e Ny ¥ a4

0 3: eager 0 00U

5. Va,a' € Aexp.P(a,da’) = P(S(a),S(a"))

6. VYay,d|,as € Aexp.P(a1,a)) = P(a; + ag,a} + as)

7. Vny € Nv,ag,d,, € Aexp.P(as,al) = P(ny + ag,ny + a})
8. Yay,d|,as € Aexp.P(ay,a)) = P(a; * ag,a} * ay)

9. Vny € Nv,ag,a, € Aexp.P(az,al) = P(ny * az,ny * ab)

6.2 eager /lazy OO0O0OOODODOO

oot — U0 —ogobbbboooooobbbbb —, 0b0dooooon
gboogboogo

6.2100: 000000 @,/ 0000 a—.d 000 a—d 0000

Proof: — 00000000000 OOOOOO0O0—0O0O0OOO0OO0OO0OOOCOOOOOO
gdddoopooooooooooogod a—>ea’[]DDDDDDDDDDDDDDDP(CL,&’)
Oa—d 0000 O

6.2.2 00 [eager 00O OO0O]: —.€ Aexp — Aexp 0000000 0O0OVa,d,d €
Aexp.a —.d &a—,d" = d =d".

12



as + az — ab

(RL-PLPL)
(RL-PLz) @ * (a2 * a3) — a1 +
ag + Z — ag
/
(RL-PLSC) 02 * 03 71 0 RL-PLMU
ap + S(a2) —>lS(CL1 * CLQ) a; *+ ay * a3 —y a1 + CLIQ ( )
S (RL-MUZ)
ag * Z — 2 /
G2 T W T (RL-MUPL)
() (RL—MUSC) a; * ((ZQ + a3) —a; * a’2
ay * S(ag) —pay * az + a;
a—a ag * az — a
- (RL-Succ) - (RL-MUML)
S(a) —; S(a") a; * (az * ag) — a1 * aj

0 4: lazy OO O

Proof: 000000 DOO00OODODOOODOOODOD ¢«a—.d 000000000 DOOODODOO
o0o0o0o0oD0O0oODD0ODO0000e—.d 000000000 0O0OD0O0OODO0OP(a,d)000
00000 Vd" € Aexp.a —.d"—=d =d" 0000 O

O00eager DO ODOOO0OO0OO0O (20000000000
6.2.3 00: Va € Aexp,n € Nv.a —* n=a —} n.

Proof: — 00000000 NvOUODOOOODOODeager0 — . OOO0OODOOO
goooon U

6.2.4 00: Va € Aexp,n € Nv.a —:n=aln.

Proof: ¢« —;n 000000 AO0OOO0DDOOODOO UJ

13



